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Question 1

Question Type: MultipleChoice

Which of the following statements is true? Select the correct answer.

Options:

A- A composition member is a service that is not composed by other services.
B- A composition member is a service that is composed by another service.
C- A composition member is the same as a sub-controller.

D- None of the above statements are true.

Answer:

B

Question 2

Question Type: MultipleChoice




Which of the following statements are true? SELECT ALL THAT APPLY

Options:

A- The application of service-orientation leads to reduced awareness of underlying service implementation details because the Service
Abstraction principle advocates limiting what is published about services.

B- The application of service-orientation leads to increased consistency in how functionality is expressed in the service contract because
the Service Reusability principle advocates deferring service contract information at runtime.

C- The application of service-orientation leads to increased behavioral predictability and increased availability and scalability as a result
of applying the Service Autonomy and Service Statelessness design principles.

D- The application of service-orientation leads to increased awareness of available services because the Service Discoverability design
principle advocates improving the communications quality of published service information.

Answer:

A CD

Question 3

Question Type: MultipleChoice




When referring to the Service Discoverability principle, the quality of interpretability refers to a service's ability to be effectively
discovered at runtime by service consumer programs designed to carry out dynamic runtime discovery. Select the correct answer.

Options:

A- True

B- False

Answer:

B

Question 4

Question Type: MultipleChoice

Fill in the blank for the following definition for the Service Loose Coupling design principle: "Service contracts impose low
requirements and are themselves decoupled from their surrounding environment.” Select the correct answer.

Options:




A- consumer coupling
B- granularity
C- legacy encapsulation

D- state deferral

Answer:

A

Question 5

Question Type: MultipleChoice

A(n) in the extent to which a service needs to share resources with other parts of the IT enterprise will result in
a(n) of the service's overall . Select the correct answer.
Options:

A- decrease, decrease, standardization

B- increase, decrease, standardization



C- decrease, increase, autonomy

D- increase, increase, autonomy

Answer:

C

Question 6

Question Type: MultipleChoice

Fill in the blank for the following definition of the Service Abstraction design principle: " only contain essential
information and information about services is limited to what is published in service contracts." Select the correct answer.

Options:

A- Service messages
B- Service contracts
C- Service types

D- Service activities



Answer:

Question 7

Question Type: MultipleChoice

Fill in the blank for the following definition of the Service Reusability design principle: "Services contain and express
logic and can be positioned as reusable enterprise resources.” Select the correct answer.

Options:

A- non-agnostic
B- agnostic
C- distinct

D- new

Answer:

B



Question 8

Question Type: MultipleChoice

The Service Abstraction principle emphasizes the need to reveal as much of the underlying details of a service as possible in order to
support the Service Discoverability principle in its goal of maximizing the quantity of published information about a service. Select the
correct answer.

Options:

A- True

B- False

Answer:

B

Question 9

Question Type: MultipleChoice




A service's functional context determines its: Select the correct answer.

Options:

A- purpose and function
B- implementation environment and deployment location
C- scalability and usage thresholds

D- longevity and versioning parameters

Answer:

A

Question 10

Question Type: MultipleChoice

The "contract first" approach to building services helps realize contract-to-logic coupling. Select the correct answer.

Options:




A-True

B- False

Answer:

B

Question 11

Question Type: MultipleChoice

Which of the following statements does not make sense? Select the correct answer.

Options:

A- By applying the Standardized Service Contract principle, the amount of data model transformation logic required by my solution has
been reduced.

B- Since the design standards created in support of the Standardized Service Contract principle have been more widely enforced, I've
noticed the same data models being shared by more services.

C- Itis thanks to the Standardized Service Contract principle that we have been able to better isolate our services so as to reduce their
dependency on shared databases.



D- All of these statements make sense.

Answer:

C
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